
SAP ABAP table MCCOMVFKP {BW Communication Structure Shipment Costs Item Data}

MCCOMVFKP

MANDT [CLNT (3)]

FKNUM [CHAR (10)]

FKPTY [CHAR (4)]

BUKRS [CHAR (4)]

WAERS [CUKY (5)]

MWSKZ [CHAR (2)]

TPLST [CHAR (4)]

VSART [CHAR (2)]

KALSM [CHAR (6)]

WERKS [CHAR (4)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

PARVW [CHAR (2)]

TDLNR [CHAR (10)]

RECHS [CHAR (10)]

KURST [CHAR (4)]

KNTTP [CHAR (1)]

BKLAS [CHAR (4)]

LOGSYS [CHAR (10)]

TRFZNA [CHAR (10)]

TRFZNZ [CHAR (10)]

SLAND1_A [CHAR (3)]

SLAND1_Z [CHAR (3)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MCCOMVFKP-RECHS = LFA1-LIFNR 

0..N

1

 MCCOMVFKP-TDLNR = LFA1-LIFNR 0..N

1

T000

MANDT [CLNT (3)]

 MCCOMVFKP-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 MCCOMVFKP-BUKRS = T001-BUKRS 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MCCOMVFKP-WERKS = T001W-WERKS 

1..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MCCOMVFKP-SLAND1_A = T005-LAND1 

0..N

0..N

 MCCOMVFKP-SLAND1_Z = T005-LAND1 0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 MCCOMVFKP-MWSKZ = T007A-MWSKZ 
0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 MCCOMVFKP-EKGRP = T024-EKGRP 
0..N

1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]
 MCCOMVFKP-EKORG = T024E-EKORG 1..N

1

T025

MANDT [CLNT (3)]

BKLAS [CHAR (4)]
 MCCOMVFKP-BKLAS = T025-BKLAS 0..N

0..N
T163K

MANDT [CLNT (3)]

KNTTP [CHAR (1)]

 MCCOMVFKP-KNTTP = T163K-KNTTP 
0..N0..N

T173

MANDT [CLNT (3)]

VSART [CHAR (2)]

 MCCOMVFKP-VSART = T173-VSART 

0..N

{0,1}

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 MCCOMVFKP-KALSM = T683-KALSM 

0..N

{0,1}

TBDLS

LOGSYS [CHAR (10)]

 MCCOMVFKP-LOGSYS = TBDLS-LOGSYS 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 MCCOMVFKP-WAERS = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 MCCOMVFKP-KURST = TCURV-KURST 

0..N

{0,1}

TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 MCCOMVFKP-PARVW = TPAR-PARVW 

0..N

1

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 MCCOMVFKP-TPLST = TTDS-TPLST 

0..N

{0,1}

TVFT

MANDT [CLNT (3)]

FKPTY [CHAR (4)]

 MCCOMVFKP-FKPTY = TVFT-FKPTY 

0..N

1

TVFTZ

MANDT [CLNT (3)]

TRFZN [CHAR (10)]

 MCCOMVFKP-TRFZNA = TVFTZ-TRFZN 

0..N

0..N

 MCCOMVFKP-TRFZNZ = TVFTZ-TRFZN 

0..N

0..N

VFKK

MANDT [CLNT (3)]

FKNUM [CHAR (10)]

 MCCOMVFKP-FKNUM = VFKK-FKNUM 

0..N

1


